Equhent Law

Example

#1

Multiplication Law;

am X an .= am+n

(XZ)(X7) — x2+7 = XQ

132x 3% =3 = 3% = 243

#2°

Division Law:

al'!'l/al'l - .am-n

a%/a’ = a%5 = a*

d>/d’ = dedededed = ded = d?

or deded 1
am_:,_,a.rl = a™" (3#0) ' :
| 7P ET=T77=49
#3 | _
Power Rules (a®)’=a*?=2a°
(am)n - amn (23)3 — 23)(3 - 29 — 512
#4 :
(ab)™ = a™b™ (203)> =229 3°=449=36
#5 | (a/b)™ =a™/b" (b#0) | (3/4y = 3%4* =9/16
#6 | Negative Exponents 52/5% = 524 = 57
am™=1/a" (a=0) |or |
C l5%Y5%= Be5 = 1 = 1
GeGe5e5  Ge5 52
Therefore... 52 = _1
52
#7 - : '
| (a/b)™ =a"/b™ Think... (a/b)™ = 1/(a/b)" (from #6)
= b™/a™ (a#0) = 1/(a™/b™) (from #5)

=1+ (a"/b™
invert and multiply
= 1x (b"/a™)

= bM/a™




Rational Exponenis

an = Ya™ = (Ya)r

 Exponent Law Example
#8
| Exponent of Zero We know... 25 + 25 =
a’=1 but, 25=52 so, 52+ 52 =1
which means, o 522 =1 (from #2)
but, 2-2=0 so, 50=1
#9
Product Rule for Square V36 = 42 x 18
'Roots: ' or v36 =& x+9
or V36 =6 x6
Vab = va x Vb
- #10
Product Rule for Cube 320 = 38 x 35
Roots: =2¥5 because 8 = 2
Yab=¥Yax ¥b
#11
Rational Exponents g3 - g = 2 |
) , _
ar = Va 1255 = Y175 = 5
#12 |

275 = Y772 = (%/2_7)2=(3)2=9




